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Na K Cl

154 0 154 0 0

147 4 109 0 0

130 4 109 *28 0

130 4 109 0 *28 F

* HCO3-



︣Ḯ

ml/

(mEq/L

Na K Cl HCO3-

1500 10 25 10 15

2500 70 10 100 0

500 140 5 100 30

700 140 5 100 70

3000 140 10 100 25

Cf. 2500 140 5 100 27
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ẁ Ḳ 2L 15 ḭ Ḯ

( 20ml/kg 1-2 ︣ḭ 3L נּ

לּךּ ṏ)

ẁ Ḳ צּ Ḯ
￼ צּ !!

ẅ Ḳ Ӹ

ṕ Ṗ Ḯ

ẁ0.5ml/kg/ hr Ḯ

1ml/kg/ hr צּ ︡Ḯ
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Na



3 נּ
Ӹ 1 Ḯ

( 50kg 4 2000ml Ḯ)

Na Ḳ 8-12g ḭ

70mEq/ Ḯ

K Ḳ 40mEq/ Ḯ

Ḳ1 400kcal( 100g)

= ṇ אל ךּ Ḯ

1 Ḯ ︣ צּ Ḯ

Ḳ30-40ml ú / Ḯ50kg 2000ml Ḯ



%
(mEq/

Na K Cl

T1 2.6 90 70

T3 4.3 35 20 35
4

1

7.5 35 20 35 PPN

KNMG3 10 50 20 50
(TPN

PN 1 12 50 30 50 TPN

PN 2 16.4 45 27 45 TPN

Cf. 130 4 109



נּ קּףּ ךּ

ÅNa 1 1mEg/kg

ÅK 1 0.5mEq/kg

Å1 100g

Å 1A 2.9g

Å 1A 20mEq


